TABULATION SHEET		1	VENDOR #2		
BID NO. 2016-047-6584 Annual			Corporate Floors Inc.		
Contract for Commercial Carpet Cleaning and Related Services					
Cleaning and Related Scivices					
Opening Date: 28-Mar-2016			1712 Minter's Chapel R 100	.d., Ste	
CO 2017-0630 entends contract for th	e period June		Grapevine, TX 76051		
	•		David Douthit		
			Tel: 817-329-7100 Fax: 817-601-2288		
DESCRIPTION:	Est. Qty.				
	Qiy.				
NCTRCA Certified M/WBE Vendor			Yes		
EEO1 Form Submitted?			Yes		
Dallas County Taxpayer?			No		
1. Specify Cost to provide On-Site	1,450,000	sq. ft.		\$0.07	\$101,500.00
Carpet Cleaning Services, in accordance		-			
with the terms and conditions set forth in the general and technical requirements	1				
2. Specify Cost to provide On-Site	50,000	sq. ft.		\$0.07	\$3,500.00
*Emergency Carpet Cleaning Services*	50,000	sq. n.		φ0.07	\$5,500.00
in accordance with the terms and					
conditions set forth in the general and technical requirements					
*Emergency Carpet Cleaning					
Services- Are unscheduled (less than 24 hours notice with a On-site					
response time of three (3) hours					
Standard Carpet Cleaning Services					
3. Specify Cost to provide On-Site 24/7	20,000	sq. ft.		\$0.25	\$5,000.00
Emergency Water Restoration and	,	~ 1		+	+-,
Carpet Cleaning Service, in accordance with the terms and conditions set forth in	n				
the general and technical requirements	-				
Total				\$	110,000.00
Optional Services:				Ψ	110,000.00
Specify Cost for Carpet Protector Application: 3M Scotchgard, DuPont	4,000	sq. ft.		\$0.10	\$400.00
Teflon Advanced or equivalent					
Specify Brand To Be Utilized			DuPont Teflon Advance	ed	
Specify Cost for Deodorizers	8,000	sq. ft.		\$0.25	\$2,000.00
Application	0,000	əy. 11.		ψ0.23	φ2,000.00
		l	<mark>-</mark>		

TABULATION SHEET			VENDOR #2		
BID NO. 2016-047-6584 Annual			Corporate Floors Inc.		
Contract for Commercial Carpet					
Cleaning and Related Services					
Opening Date: 28-Mar-2016			1712 Minter's Chapel Rd., Ste 100		
CO 2017-0630 entends contract for th	e period June		Grapevine, TX 76051		
			David Douthit		
			Tel: 817-329-7100 Fax: 817-601-2288		
			1'ax. 617-001-2288		
DESCRIPTION:	Est. Qty.				
Specify Brand To Be Utilized					
Total			\$2,400.0		
4. Specify Cost to provide On-Site					
Cleaning of Fabric Cubicles, Partitions, and/or Panels of Modular					
Furniture Systems					
4.1 Size: up to 7' Cubicle, Partition,	5	each	\$7.00 \$35.0		
4.2 Size: 8'-9' Cubicle, Partition, and/or Panel	5	each	\$9.00 \$45.0		
4.3 Size: 10'-11' Cubicle, Partition,	5	each	\$11.00 \$55.0		
and/or Panel	5	CuCII	\$11.00 \$55.0		
4.4 Size: 12' and above Cubicle,	5	each	\$12.00 \$60.0		
Partition, and/or Panel					
Total			\$195.0		
Specify Cost to provide On-Site Cleaning of Wall Panels or Wall					
Partitions					
5.1 Size: up to 7' Wall Panels or Wall	5	each	\$5.60 \$28.0		
Partitions					
5.2 Size: 8'-9' Wall Panels or Wall Partitions	5	each	\$7.20 \$36.0		
5.3 Size: 10'-11' Wall Panels or Wall	5	each	\$8.80 \$44.0		
Partitions	-				
5.4 Size: 12' & above Wall Panels or	5	each	\$9.60 \$48.0		
Wall Partitions Panel					
Total 6 Specify Cost to provide On-Site			\$156.0		
6. Specify Cost to provide On-Site Upholstery Cleaning Services for					
Chairs and Sofa: County Property					
only to be determined by County					
<b>Building Inspector</b> 6.1 Fabric - Desk or Side Chair	400	each	\$5.50 \$2,200.0		
6.2 Leather - Desk or Side Chair	400 10	each	\$5.50 \$55.0		
6.3 Silk - Desk or Side Chair	10	each	\$8.00 \$80.0		
6.4 Fabric - Sofa up to 8' long	30	each	\$28.00 \$840.0		
6.5 Leather - Sofa up to 8' long	10	each	\$28.00 \$280.0		
	10		\$36.00 \$360.0		
6.6 Fabric - Sofa 8' long and above	10	each	\$50.00 \$500.0		

TABULATION SHEET BID NO. 2016-047-6584 Annual Contract for Commercial Carpet Cleaning and Related Services			VENDOR #2 Corporate Floors Inc.
Opening Date: 28-Mar-2016	and Image		1712 Minter's Chapel Rd., Ste 100 Comparing TX 76051
CO 2017-0630 entends contract for the	e period June		Grapevine, TX 76051 David Douthit Tel: 817-329-7100 Fax: 817-601-2288
DESCRIPTION:	Est. Qty.		
6.7 Leather - Sofa 8' long and above	10 each	each	\$36.00 \$360.00
Total			\$4,175.00
Grand Total			\$116,926.00
Performance Bond:			
Specify Cost for Performance Bond			No Response
Specify the name, telephone number and email address of the account representative who will be handling and managing this account:			
Contact Person Name:			Norma Hernandez

TABULATION SHEET BID NO. 2016-047-6584 Annual Contract for Commercial Carpet Cleaning and Related Services

**Opening Date: 28-Mar-2016** 

CO 2017-0630 entends contract for the period June

**DESCRIPTION:** 

Est. Qty.

Telephone Number:

E-Mail Address:

Specify the Alternative Contact Person: Contact Person Name: Telephone Number: E-Mail Address:

Specify procedures for scheduling carpet cleaning and related services

Please indicate your procedures and/or requirements to cancel and/or reschedule service for new date:

Should your firm be awarded this contract, describe what (if any) portion of the bid requirements will be subcontracted out:

Please indicate if you have the required products in stock:

We do have the products in stock We will be required to obtain the products upon award of bid VENDOR #2 Corporate Floors Inc.

1712 Minter's Chapel Rd., Ste 100 Grapevine, TX 76051 David Douthit Tel: 817-329-7100 Fax: 817-601-2288

469-693-4191

nhernandez@ corporatefloors.com

Chris Fleming 972-741-4575 <u>cfleming@corporate\_floors.com</u>

Contact our scheduling manager Rachel Guss at rguss@corporate floors.com Ph #817-601-2258

Contact our scheduling manager Rachel Guss at rguss@corporate floors.com Ph #817-601-2258 within 24 hrs. for cancellation.

Х

TABULATION SHEET BID NO. 2016-047-6584 Annual Contract for Commercial Carpet Cleaning and Related Services		VENDOR #2 Corporate Floors Inc.
Opening Date: 28-Mar-2016		1712 Minter's Chapel Rd., Ste 100
CO 2017-0630 entends contract for the	e period June	Grapevine, TX 76051 David Douthit Tel: 817-329-7100 Fax: 817-601-2288
DESCRIPTION:	Est. Qty.	
Specify any additional comments, deviations, cost, etc. included with your bid proposal, if applicable:		
Specify Prompt/Early Payment Discount Terms (if any):		
Please answer the questions listed below: Did your company check Dallas County website (http://www.dallascounty.org/ department/purchasing/currentbids. html) for any addendums, updates, and/or		Yes
changes to the bid solicitation? Is the required reference information and documentation included with your proposal? Yes No	1	Yes
<b>Cooperative Purchasing</b> : Should other Governmental Entities decide to participate in this contract, would you, the awarded Contractor agrees that all terms, conditions, specifications, and pricing would apply to that entity?		Yes
Does your firm/company have the required insurance coverage stated under SECTION 3 - INSURANCE REQUIREMENTS and agree to comply with these requirements during the duration of this contract?	r	Yes
If No, will your firm be able to acquire the required coverage within ten (10) days upon notification of contract award?		

TABULATION SHEET BID NO. 2016-047-6584 Annual Contract for Commercial Carpet Cleaning and Related Services		VENDOR #2 Corporate Floors Inc.
Opening Date: 28-Mar-2016		1712 Minter's Chapel Rd., Ste 100
CO 2017-0630 entends contract for th	e period June	Grapevine, TX 76051 David Douthit Tel: 817-329-7100 Fax: 817-601-2288
DESCRIPTION:	Est. Qty.	
<ul> <li>Information on Provision of Health Insurance Coverage for Employees</li> <li>Dallas County may consider the provision of health insurance coverage for employees in the bid evaluation process (see page 5, paragraph 5).</li> <li>Please complete the information below to assist in this evaluation.</li> <li>a) Does your company provide health insurance coverage to its employees?</li> <li>b) If your company does provide health insurance coverage to its employees, does the company share in the cost a</li> </ul>		Yes
minimum of:		N
95% for employee only coverage?		No
<ul><li>85% for employee + children coverage</li><li>73% for employee + spouse</li></ul>		No No
71% for employee + family coverage		No
c) If your company provides health		No
<ul> <li>insurance coverage to its employees, is</li> <li>the coverage comparable to the services</li> <li>provided by Dallas County as described</li> <li>in the attached summary plan</li> <li>description? (See Attachment - A)</li> <li>d) If your company plans to utilize</li> <li>subcontractors in the fulfillment of this</li> <li>bid, does each of the subcontractors</li> <li>provide health insurance coverage to</li> <li>their employees that compares to Dallas</li> <li>County's health insurance coverage and</li> </ul>		No N/A
share in the cost? For Statistical Gathering Purposes		
Only:		W.
Please indicate whether your company is certified through the North Central Texas Regional Certification Agency (NCTRCA) Yes No	5	Yes

TABULATION SHEET BID NO. 2016-047-6584 Annual Contract for Commercial Carpet Cleaning and Related Services			VENDOR #2 Corporate Floors Inc.
Opening Date: 28-Mar-2016	Opening Date: 28-Mar-2016		
CO 2017-0630 entends contract for the	e period June		100 Grapevine, TX 76051 David Douthit Tel: 817-329-7100 Fax: 817-601-2288
DESCRIPTION:	Est. Qty.		
If you answered "yes", please indicate your certification number and expiration date below.			
Certification/Registration Number:			WFMB32746N0516
Expiration Date:			5/20/2017
Please indicate whether your company is certified through an agency other than NCTRCA? Yes No			Yes
If yes, please provide which agency and the applicable certification number:			
Agency Name:			DFW Minority Supplier Development Council
Certification/Registration Number:			DL09676
Please indicate to Dallas County whether the owner is a:			
[] Dallas County Taxpayer			
[] Other County Tax Payer (Specify):			Tarrant
Please indicate the manner in which you were notified of this solicitation:			
[] Daily Commercial Record			
[ ] Dallas County Website [ ] Letter from Dallas Co. Purchasing			
[ ] Other: Specify:			Dallas County Email from Purchasing Dept.